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FE|BE#HE | FERE B4 BMEZEK | BEATEANEE/M
1 2N LS kid 1 2R 10kVER 454611 10 7.41
2 £ M FN T I A7 1 OKVIR i 4,612 10 8.03
3 M BT R AR 10KV E JE 4,613 10 8.33
4 2N M T W B 10KV 3L 4614 10 4.92
5 M ki U B AR 1 0KV I 4 615 10 6.04
6 2 M -8kl % 2 % 10KVET = 4,616 10 5.91
7 FM M T W R AR 10KV B % 617 10 5.81
8 M M T W B 10KV 4,618 10 5.82
9 M =M U B 7 10KV 3L 4619 10 8.33
10 2N FN T I A 10KV )G # %921 10 6.63
11 M ki W B 7 1 KV %2 % 922 10 6.25
12 SN RN I .7 10KV 24 — 1923 10 7.63
13 FM ik W R, 77 10KV ZR 77 % 924 10 6.64
14 M SN T W AR 1OKV)™ 37 %925 10 8.22
15 M M T W R, AR 10KV [ 4 941 10 7.97
16 M RN U 2 10KVIE B 4 942 10 7.96
17 M ki U B 7 1 0KV T 4 943 10 7.36
18 2N SN W B8 10KV B 4,945 10 6.53
19 2N LSkl 7 X 10KV 3% 4911 10 6.65
20 2N FN T # X A5 10KV 3% 4,912 10 6.97
21 M -9k HIX A 10KVA# [ H913 10 7.44
22 £ M FN T 5 X A7 10KV =k 4,91 4 10 8.33
23 ZM RN % X 4 1OKVA] 3 = [F1915 10 8.05
24 M M T 7 X 10KV B 4916 10 6.01
25 2N -9k & X A5 10KV3E M 4,917 10 6.97
26 M FN T W X % 10KVl % £,918 10 6.61
27 2 M M 7 X 5 10KV 48 4,919 10 6.97
28 2 M FN T 7 X 10KV4E 4 4921 10 5.32
29 2 M ki 7 X 10KV 4 374 922 10 6.24
30 2N S T % X 75 10KV ¥ %4923 10 6.24
31 2N LSkl W X 4 10kVz % 1[5 924 10 6.24
32 2N M T % X 75 1OKVA] % % 925 10 6.24
33 M RN & X 10KV Jg 4926 10 5.80
34 M S T % X 5 10KV M % 943 10 6.24
35 M -9k 7 X 2 10KVEE = 4,944 10 4.38
36 M FN T 7 X 7 10KV 37 % 945 10 6.24
37 M RN & X% 10KV 7 & 11 1946 10 6.24
38 SN FN T % X 10KV 1l 4951 10 6.97
39 M LSkl 7 X 25 1 0KV Eg 1 4 952 10 6.97
40 2 M 8kl 2k 10kVE 3 4,621 10 3.79
41 M =M B 57 1OKVAE 3 4 622 10 5.15
42 FM FN A B 92 10KV 4+ 14 4623 10 5.11
43 2N -9k =2 10KV B 4624 10 5.14
44 £ M FN T 2 10kVA 2 4,626 10 8.33
45 M = #4527 10KV ALIE %628 10 3.91
46 2N S T B 92 10KV #4651 10 0.89
47 M =M B 577 1 OKVHE ] 4 652 10 5.43
48 2 M Skl E R 10kVEEL T H653 10 6.89
49 2 M = B 577 10KV ER 14 4 654 10 5.39
50 2 M RN M 72 10KV R 45 4661 10 4.64
51 2N R 2k 10KV 3k T [ 662 10 4.46
52 2N S T B 92 10KV U4 2% 663 10 6.46
53 M M T 52 75 10KV 35 34 4664 10 6.97
54 £ M FN T A 10KV L 4671 10 3.10
55 FM RN % 3 7 10kVIl 3 % 920 10 7.44




FE|FEHRX | FEXE % & A BEZRAK | BEATENEE/MN
56 M AN % A 10KV 2 % %921 10 7.66
57 FM RN %3 7 10KV JH 4922 10 5.54
58 M FN A 0 A 10KV 4923 10 4.63
59 M RN %3 7 10KV % 4 925 10 6.71
60 M FN T 7834 7 10KVAE 14 4,926 10 7.44
61 M RN %3 75 10KV 2 31 % 927 10 5.78
62 M M 23 7 10KV 2 5 %4 929 10 5.40
63 M RN %3 7 10kV4 [F 4,932 10 0.22
64 M FNT 230 7 10kV 22 1L #4933 10 0.22
65 M RN %3 7 10KV ¥ %4 936 10 0.22
66 M AN %3 74 10KVl 1 %4 951 10 7.44
67 FM BN %3 7 10KV B 4 952 10 6.97
68 M AN % % 10kVAE I %4 953 10 6.97
69 2N LSkl 23 7 10kVE WL 1T 15 954 10 6.37
70 FM kil 5z A 10KV E T FE610 10 3.36
71 2N -9k T2 A 10KV BR .61 1 10 6.32
72 2N 2N 2 5275 1 OKVIR % 4 612 10 5.20
73 FM RN TR 10kVE % T F613 10 6.93
74 SN RN B2 A 10KV ) 4614 10 6.90
75 2N -9k S22 A7 10KV 4] 4615 10 5.68
76 FM kil 577 10KVAR % 4,616 10 9.21
77 ZN -8k S A 10KV #E T 621 10 5.65
78 M AN W 2245 1 OKVIE 75 4,622 10 0.09
79 M L:8hikil g2 A5 1 0kVE 2 1T | 623 10 6.45
80 2N M T 392 A8 10KV AR B %4 624 10 4.14
81 M RN I 5275 1OKVIE 1 4625 10 7.00
82 M M I g2 AR 10KV 2 % 641 10 5.61
83 FM RN 52745 1 0KV 4 % 642 10 7.66
84 2N SN I g2 A7 10KV 1 %4 643 10 7.44
85 M L=8hikil 7245 10kV4E )1 T 11645 10 8.33
86 M FN T B2 10KV 4 4917 10 6.35
87 2N -9k S22 A7 10KV R %% 931 10 3.57
88 M M T 724 10KV # 1 932 10 6.60
89 2N LSkl st 22 A7 1 OKV T % 4 934 10 6.03
90 2N ik 7248 1 0KV % 4,935 10 7.66
91 2N 2w I 5275 10KV | 4936 10 3.79
92 M FN T 3 57745 1 OKVIR AT 4,937 10 4.72
93 2N LSkl 72 A7 1 0KV 3 3F 4,938 10 7.66
94 SN RN 3 52 A7 10KV # % 939 10 6.47
95 M L=8hikil 72 A5 10KV A A 4951 10 6.93
9% 2 LS A3 4 10KV 3 4,621 10 5.27
97 2 M -9k 325 1 0kV4k L. 4,622 10 3.62
98 £ M FN T Al 35 A7 10KV K 2 %623 10 5.83
99 F3N kil i3 7 10KV A 1t 4 624 10 6.97
100 | #M 2w A3 75 10KVA % %4625 10 5.00
101 2N L Sikid A3 A7 10KVAL 4% 4,626 10 5.54
102 BN L8kl A3 7 1OKVRUH 4,627 10 5.06
103 2N L Sikd N3 % 10KV g % 2% 628 10 4.90
104 | R®M M T A3 10KVYE 2% T [F1629 10 6.18
105 M L Sikid Al 3% 4 10KV 25 1T [E1 630 10 6.58
106 | 2N HN T A3 7 10KVAE ¥ %4631 10 6.90
107 2N -9 il A3 A 10kVALL J& 4,632 10 6.81
108 [ RM AN A3 75 1OKVAE & %4 640 10 6.75
109 M -8 il A3 AR 10KV A 4641 10 4.04
110 M 2w A3 A5 10KV = #4642 10 8.04

111 M ¥ Kiil 3% 47 10KV HE B 4643 10 5.79
112 &N kil A3 AR TOkVAD L TT EI 644 10 3.14
113 #NM RN A48 A 10KV 1h % 645 10 6.97




FE|MBHEK | FERE HRAK BEZEZK | BEATEANEE/M
114 #M 2N Al 35 A7 10KV 7 %646 10 8.04
115 M LSl (38 10KV & 4 647 10 6.97
116 | %M FNT A3 5 10KV 44 4,648 10 7.57
117 2N L8Nl A3 &2 TOKVAL L T 181649 10 5.54
118 [ 2N RN A% 4 10kVEE = 4k 4 650 10 4.96
119 2N L8 kid 135 47 10kV4E B #4651 10 6.63




